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1. Hkkjr esa puk dk vkSlr mRiknu gS % 
 

1. Average production of chickpea in India 

is : 

(A) 100 fefy;u Vu  (A) 100 M tonnes 

(B) 200 fefy;u Vu  (B)  200 M tonnes 

(C) 10 fefy;u Vu  (C)  10 M tonnes 

(D) 50 fefy;u Vu  (D)  50 M tonnes 

2. fo’o ds fdrus izfr’kr puk dk mRiknu Hkkjr 

esa gksrk gS \ 

 
2. What percentage of the world’s chickpeas 

is produced in India ?  

(A) 65%  (A) 65% 

(B)  63%  (B)  63% 

(C)  64%  (C)  64% 

(D)  70%  (D)  70% 

3. Nksys@pus dh fdruh jax fdLesa gSa \ 
 

3. How many colour varieties does chickpea 

have ? 

(A) 3  (A) 3 

(B)  4  (B)  4 

(C)  2  (C)  2 

(D)  5  (D)  5 

4. lw[ks pus dks fdrus le; rd HkaMkfjr fd;k 

tk ldrk gS \ 

 
4. How long can dried chickpeas be stored ? 

(A) 16 eghus  (A) 16 months 

(B) vlhfer le;  (B)  Unlimited time 

(C) 8 lky  (C)  8 years 

(D) 17 lky 4 eghus  (D)  17 years 4 months 
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5. pw¡fd Nksys esa vkgkj Qkbcj vf/kd gksrk gS] 

blfy, mUgsa fdl chekjh ds fy, Qk;nsean 

ekuk tkrk gS \ 

 
5. Because chickpeas are high in dietary 

fibre, what disease are they considered 

beneficial for ? 

(A) e/kqesg  (A) Diabetes 

(B) xfB;k  (B)  Arthritis 

(C) eysfj;k  (C)  Malaria 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

6. puk dh cht nj gS % 
 

6. Seed rate of chickpea is : 

(A) 75 100 fdxzk-@gsDVs;j  (A) 75—100 kg/ha. 

(B) 200 500 fdxzk-@gsDVs;j  (B)  200—500 kg/ha. 

(C) 2 10 fdxzk-@gsDVs;j  (C)  2—10 kg/ha. 

(D) 10 15 fdxzk-@gsDVs;j  (D)  10—15 kg/ha. 

7. ns’kh fdLe ds fy, vuq’kaflr b”Vre nwjh nh 

tkuh pkfg, % 

 
7. Recommended optimum spacing to be 

given for Deshi variety : 

(A) 100 × 100 lseh-  (A) 100 × 100 cm 

(B) 50 × 50 lseh-  (B)  50 × 50 cm 

(C) 30 × 30 lseh-  (C)  30 × 30 cm 

(D) 20 × 20 lseh-  (D)  20 × 20 cm 
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8. dkcqyh fdLe ds fy, vuq’kaflr b”Vre nwjh 

nh tkuh pkfg, % 

 
8. Recommended optimum spacing to be 

given for Kabuli variety : 

(A) 5 × 5 lseh-  (A) 5 × 5 cm 

(B) 20 × 60 lseh-  (B)  20 × 60 cm 

(C) 45 × 45 lseh-  (C)  45 × 45 cm 

(D) 10 × 10 lseh-  (D)  10 × 10 cm 

9. pus dk iq”iØe gS % 
 

9. The inflorescence of chickpea is : 

(A) vkWfDlyjh jslhe  (A) Auxillary raceme 

(B) iq”ixqPN  (B)  Panicle 

(C) dku  (C)  Ear 

(D) flj  (D)  Head 

10. puk ds fy, flapkbZ dk lcls egRoiw.kZ pj.k 

gS % 

 
10. Most critical stage of irrigation for chick- 

pea is : 

(A) fVyfjax  (A) Tillering 

(B) lh- vkj- vkbZ-  (B)  CRI 

(C) Qwy vkus ls igys  (C)  Pre-flowering 

(D) Qly  (D)  Harvest 

11. puk dh cqokbZ ds fy, vkn’kZ rkieku gS % 
 

11. Ideal temperature for sowing of chickpea 

is : 

(A) 15–20°C  (A) 15–20°C 

(B)  10–25°C  (B)  10–25°C 

(C)  10–15°C  (C)  10–15°C 

(D)  23–40°C  (D)  23–40°C 
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12. puk dk izeq[k mRiknd gS % 
 

12. The leading producer of chickpea is : 

(A) Hkkjr  (A) India 

(B) cekZ  (B)  Burma 

(C) ckaXykns’k  (C)  Bangladesh 

(D) ,fjdk  (D)  Arica 

13. izdk’k&vkof/kd :i ls puk ,d izdkj dk 

ikS/kk gS % 

 
13. Photoperiodically, chickpea is a type of 

plant is : 

(A) NksVk fnu  (A) Short day 

(B) yEck fnu  (B)  Long day 

(C) fnu rVLFk  (C)  Day neutral 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

14. pus esa fufiax dh izfØ;k gS % 
 

14. Nipping in chickpea is a process for : 

(A) ‘kk[kkvksa dk foLrkj djus ds fy,  (A) enlarge branching 

(B) ikS/ks dh Å¡pkbZ de djus ds fy,  (B)  reduce plant height 

(C) ikS/kksa dks Bgjus ls cpkus ds fy,  (C)  protect plants against lodging 

(D) jksxksa ls cpko ds fy,  (D)  protect from diseases 
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15. dkcqyh puk dh vof/k gS % 
 

15. Duration of Kabuli Chana is : 

(A) 90 180 fnu  (A) 90–180 days 

(B) 50 80 fnu  (B)  50–80 days 

(C) 300 350 fnu  (C)  300–350 days 

(D) 210 230 fnu  (D)  210–230 days 

16. Hkkjr esa vuktksa esa lokZf/kd mxkbZ tkus okyh 

Qly gS % 

 
16. The most cultivated crop in India among 

cereals is : 

(A) pkoy  (A) Rice 

(B) xsgw¡  (B)  Wheat 

(C) eDdk  (C)  Maize 

(D) Tokj  (D)  Sorghum 

17. xsgw¡ esa izksVhu % gS % 
 

17. Protein % in wheat is : 

(A) 10–12%  (A) 10–12% 

(B)  40–60%  (B)  40–60% 

(C)  90–100%  (C)  90–100% 

(D)  20–30%  (D)  20–30% 

18. xsgw¡ dks bl uke ls Hkh tkuk tkrk gS % 
 

18. Wheat is also known as : 

(A) vuktksa dk jktk  (A) King of cereals 

(B) vuktksa dk ea=h  (B)  Minister of cereals 

(C) vuktksa dh jkuh  (C)  Queen of cereals 

(D) xjhc vkneh dk vukt  (D)  Poorman’s cereal 
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19. Hkkjrh; xsgw¡ ,oa tkS laLFkku fLFkr gS % 
 

19. Indian Institute of Wheat and Barley is 

situated in : 

(A) xkft;kckn] mŸkj izns’k esa  (A) Ghaziabad, Uttar Pradesh 

(B) Hkqous’oj] vksfM’kk esa  (B)  Bhuvaneshwar, Odisha 

(C) /kkjokM+] dukZVd eas  (C)  Dharwad, Karnataka 

(D) djuky] gfj;k.kk esa  (D)  Karnal, Haryana 

20. Hkkjr esa xsgw¡ mRiknu 
----------------------

 fefy;u Vu gSA 
 

20. Production of wheat is .............. million 

tonnes in India. 

(A) 79  (A) 79 

(B)  85  (B)  85 

(C)  69  (C)  69 

(D)  200  (D)  200 

21. xsgw¡ dh mPpre mRikndrk Hkkjr  

ds jkT; 
--------------

 esa gSA 

 
21. Highest productivity of wheat is in .......... 

State of India. 

(A) if’pe caxky  (A) West Bengal 

(B) iatkc  (B)  Punjab 

(C) egkjk”Vª  (C)  Maharashtra 

(D) vksfM’kk  (D)  Odisha 
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22. xsgw¡ ds fy, vkn’kZ moZjd ek=k gS % 
 

22. Ideal fertilizer dose for wheat is : 

(A) 140 : 80 : 60  (A) 140 : 80 : 60 

(B)  120 : 60 : 40  (B)  120 : 60 : 40 

(C)  180 : 80 : 100  (C)  180 : 80 : 100 

(D) mi;qZDr eas ls dksbZ ugha  (D)  None of the above 

23. jch ekSle dh nky dk mYys[k dhft, % 
 

23. Mention the Rabi season pulse : 

(A) eVj  (A) Chickpea 

(B) gjk puk  (B)  Green gram 

(C) yky puk  (C)  Red gram 

(D) lks;kchu  (D)  Soyabean 

24. xsgw¡ dh mRifŸk gqbZ Fkh % 
 

24. Origin of wheat is from : 

(A) nf{k.k&iwoZ ,f’k;k ls  (A) South-East Asia 

(B) nf{k.k&if’pe ,f’k;k ls  (B)  South-West Asia 

(C) vesfjdk ls  (C)  America 

(D) Hkkjr ls  (D)  India 

25. xsgw¡ dk dqy gS % 
 

25. Family of wheat is : 

(A) xzsfeuh  (A) Gramineae 

(B) ysX;wfeukslh  (B)  Leguminosae 

(C) fVªfVlh  (C)  Triticeae 

(D) ekyoslh  (D)  Malvaceae 
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26. xsgw¡ dk oSKkfud uke gS % 
 

26. Scientific name of wheat  is :  

(A) fVªfVde Mkbdksde  (A) Triticum dicoccum 

(B) fVªfVde ,fLVoe  (B)  Triticum aestivum 

(C) ft;k est  (C)  Zea mays 

(D) vksjkbtk lVkbok  (D)  Oryza sativa 

27. Hkkjr esa rhu lcls cM+s xsgw¡ mRiknd jkT;ksa ds 

lanHkZ esa fuEufyf[kr esa ls dkSu&lk Øe lgh 

gS \ 

 
27. Which one of the following sequences is 

correct in the context of three largest 

wheat producing states in India ? 

(A) iatkc] mŸkj izns’k vkSj gfj;k.kk  (A) Punjab, Uttar Pradesh and Haryana 

(B) mŸkj izns’k] gfj;k.kk vkSj iatkc  (B)  Uttar Pradesh, Haryana and Punjab 

(C) mŸkj izns’k] iatkc vkSj gfj;k.kk  (C)  Uttar Pradesh, Punjab and Haryana 

(D) iatkc] vksfM’kk] mŸkj izns’k  (D)  Punjab, Odisha, Uttar Pradesh 

28. ;fn dksbZ fdlku ^xUuk&xsgw¡* dh [ksrh djrk 

gS] rks mlds [ksr esa Qly dh l?kurk gksxh % 

 
28. If a farmer practices ‘sugarcane-wheat’, 

then cropping intensity at his farm will 

be : 

(A) 100%  (A) 100% 

(B)  150%  (B)  150% 

(C)  200%  (C)  200% 

(D)  300%  (D)  300% 
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29. xsgw¡ dh lsfeuy tM+sa gSa % 
 

29. Seminal roots of wheat are : 

(A) vLFkk;h tM+sa  (A) Temporary roots 

(B) LFkk;h tM+sa  (B)  Permanent roots 

(C) fLFkj tM+sa  (C)  Fixed roots 

(D) xSj&fuf’pr tM+sa  (D)  Non-fixed roots 

30. ekjdksuh xsgw¡ ds :i esa tkuk tkrk gS % 
 

30. Marconi wheat is known as : 

(A) fVªfVde M~;w#e  (A) Triticum durum 

(B) fVªfVde fMdksde  (B)  Triticum dicoccum 

(C) lksukfydk  (C)  Sonalika 

(D) vke jksVh xsgw¡  (D)  Common bread wheat 

31. xsgw¡ dh Qly esa flapkbZ ds fy, lcls 

egRoiw.kZ pj.k gS % 

 
31. Most critical stage for irrigation in wheat 

crop is : 

(A) ykWx pj.k  (A) Log stage 

(B) gkosZÇLVx pj.k  (B)  Harvesting stage 

(C) ouLifr pj.k  (C)  Vegetative stage 

(D) lh- vkj- vkbZ- pj.k  (D)  C. R. I. stage 
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32. xsgw¡ esa ckSusiu ds fy, mŸkjnk;h thu gS % 
 

32. Gene responsible for dwarfness in wheat 

is :  

(A) yksfju 10  (A) Lorin 10 

(B) eksfju 10  (B)  Morin 10 

(C) uksfju 10  (C)  Norin 10 

(D) Mh- ,u- ,-  (D)  DNA 

33. xsgw¡ ds iq”i Hkkx dks dgrs gSa % 
 

33. Flowering portion of wheat is called : 

(A) ruk  (A) Stem 

(B) dku@flj  (B)  Ear/Head 

(C) rkt  (C)  Crown 

(D) iSfudYl  (D)  Panicles 

34. xsgw¡ ds nkus dh dsUnzh; oØ v{k dgykrh gS % 
 

34. Central zig-zag axis of wheat grain is 

called : 

(A) tM+  (A) Root 

(B) ‘kwV  (B)  Shoot 

(C) jSfpl  (C)  Rachis 

(D) Økmu  (D)  Crown 
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35. xsgw¡ ds nkus dk Qy izdkj gS % 
 

35. Fruit type of wheat grain is : 

(A) dSfj;ksfIll  (A) Caryopsis 

(B) jSfpl  (B)  Rachis 

(C) voUl  (C)  Awns 

(D) iSfudYl  (D)  Panicles 

36. tkS ekYV ls ÅtkZ Hkjiwj is; inkFkZ gSa % 
 

36. Energy rich drinks from barley malt are : 

(A) ckWuZfoVk] cwLV] gkWfyZDl  (A) Bournvita, boost, horlicks 

(B) dksdk dksyk  (B)  Coca cola 

(C) vks- vkj- ,l- ,y-  (C)  ORSL 

(D) foLdh vkSj oksndk  (D)  Whisky and Vodka 

37. tkS esa izksVhu dh ek=k gksrh gS % 
 

37. Protein content in Barley is : 

(A) 10–12%  (A) 10–12% 

(B)  50–60%  (B)  50–60% 

(C)  90–100%  (C)  90–100% 

(D)  500–600%  (D)  500–600% 

38. Hkkjr esa tkS dk mRiknu gksrk gS % 
 

38. Barley production in India is : 

(A) 5 fefy;u Vu  (A) 5 M tonnes 

(B) 1-22 fefy;u Vu  (B)  1.22 M tonnes 

(C) 20 fefy;u Vu  (C)  20 M tonnes 

(D) 100 fefy;u Vu  (D)  100 M tonnes 



 

AGRON-5006 ( 14 )  Set-D 

39. tbZ dh cht nj dh vko’;drk gS % 
 

39. Seed rate requirement of oats is : 

(A) 2&5 fdxzk-@gsDVs;j  (A) 2-5 kg/ha. 

(B) 1000&2000 fdxzk-@gsDVs;j  (B)  1000-2000 kg/ha. 

(C) 125&175 fdxzk-@gsDVs;j  (C)  125–175 kg/ha. 

(D) 10&20 fdxzk-@gsDVs;j  (D)  10–20 kg/ha. 

40. Hkkjr esa tkS dk lokZf/kd mRiknu djus okyk 

jkT; gS % 

 
40. Highest producing state of barley in India 

is : 

(A) jktLFkku  (A) Rajasthan 

(B) if’pe caxky  (B)  West Bengal 

(C) vka/kz izns’k  (C)  Andhra Pradesh 

(D) fcgkj  (D)  Bihar 

41. tkS dh cht nj 1 gsDVs;j gksrh gS % 
 

41. Seed rate of barley for 1 hectare is : 

(A) 400 fdxzk-  (A) 400 kg 

(B) 10 fdxzk-  (B)  10 kg 

(C) 100 fdxzk-  (C)  100 kg 

(D) 1000 fdxzk-  (D)  1000 kg 
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42. tkS dh nks fdLesa gSa % 
 

42. Two varieties of Barley are : 

(A) Hkwlh de vkSj irokj  (A) Huskless and Hulled 

(B) vksoy vkSj jkmaM  (B)  Oval and Round 

(C) gYd vkSj Fkksd  (C)  Hulk and Bulk 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

43. tkS ds Hk.Mkj.k ds fy, ueh dh vko’;drk 

gS % 

 
43. Moisture requirement for storage of 

barley is : 

(A) 10–12%  (A) 10–12% 

(B)  50–60%  (B)  50–60% 

(C)  100–200%  (C)  100–200% 

(D)  90–100%  (D)  90–100% 

44. tkS dh vkSlr mit gS % 
 

44. Average yield of barley is : 

(A) 3 3-5 Vu@gsDVs;j  (A) 3–3.5 ton/ha. 

(B) 100&150 Vu@gsDVs;j  (B)  100–150 ton/ha. 

(C) 20&30 Vu@gsDVs;j  (C)  20–30 ton/ha. 

(D) 6&7 Vu@gsDVs;j  (D)  6–7 ton/ha. 

45. tkS dk mn~xe dsUnz gS % 
 

45. Centre of origin of Barley is : 

(A) vesfjdk  (A) America 

(B) nf{k.k vÝhdk  (B)  S. Africa 

(C) ,f’k;k vkSj bfFk;ksfi;k  (C)  Asia and Ethiopia 

(D) vkWLVªsfy;k  (D)  Australia 
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46. tkS ds iq”iØe dks dgrs gSa % 
 

46. The inflorescence of barley is called : 

(A) dku  (A) ear 

(B) iq”ixqPN  (B)  panicle 

(C) dhy  (C)  spike 

(D) LFkwyeatjh  (D)  spadix 

47. tkS esa flapkbZ dk lcls egRoiw.kZ pj.k gS % 
 

47. Most critical stage of irrigation in barley 

is : 

(A) fVyfjax  (A) Tillering 

(B) lh- vkj- vkbZ-  (B)  CRI 

(C) dqlqfer  (C)  Flowering 

(D) Qly  (D)  Harvest 

48. tkS dh Qly dks 
--------------------

 dh vko’;drk gksrh 

gSA 

 
48. Barley crop needs .............. . 

(A) BaMh vkSj ‘kq”d tyok;q  (A) cold and dry climate 

(B) xeZ vkSj vknzZ tyok;q  (B)  hot and humid climate 

(C) lw[kh vkSj xeZ tyok;q  (C)  dry and hot climate 

(D) ikyk  (D)  frost 

49. izdk’k&vkof/kd :i ls] tkS ,d izdkj dk 

-------------------- 
 ikS/kk gSA 

 
49. Photoperiodically, barley is a type of 

plant is : 

(A) NksVk fnu  (A) Short day 

(B) yEck fnu  (B)  Long day 

(C) fnu rVLFk  (C)  Day neutral 

(D) (A) vkSj (B) nksuksa  (D)  Both (A) and (B) 
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50. tkS dh cqokbZ dh xgjkbZ gS % 
 

50. Depth of sowing of barley is :  

(A) 1 2 lseh-  (A) 1–2 cm 

(B) 3 5 lseh-  (B)  3–5 cm 

(C) 5 6 lseh-  (C)  5–6 cm 

(D) 7 10 lseh-  (D)  7–10 cm 

51. tkS dh Vguh dgykrh gS % 
 

51. Shoot of barley is called : 

(A) ruk  (A) Stem 

(B) la¡wM+  (B)  Trunk 

(C) dYe  (C)  Culm 

(D) ckdZ  (D)  Bark 

52. tkS dk iŸkk gS % 
 

52. Leaf of barley is : 

(A) MaBy   (A) Petiole 

(B) fcuk MaBy dk  (B)  Sessile 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mitkÅ  (D)  Fertile 

53. tkS dh yo.k lfg”.kq fdLe gS % 
 

53. Salt tolerant variety of barley is : 

(A) vacj  (A) Amber 

(B) uhye  (B)  Neelam 

(C) vkj- Mh-&137  (C)  RD-137 

(D) vkj- Mh-&101  (D)  RD-101 
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54. tkS vPNh rjg ls 
---------------------- 

esa c<+rk gSA 
 

54. Barley grows well in ................ . 

(A) [kjhQ ekSle  (A) Kharif season 

(B) t+k;n ekSle  (B)  Zaid season 

(C) jch ekSle  (C)  Rabi season 

(D) izh&ekulwu lhtu  (D)  Pre-monsoon season 

55. tkS ds fy, rkieku dh vko’;drk gksrh gS % 
 

55. Temperature requirement for barley is : 

(A) 5–27°C  (A) 5–27°C 

(B)  30–40°C  (B)  30–40°C 

(C)  30–45°C  (C)  30–45°C 

(D)  40–45°C  (D)  40–45°C 

56. pus dk oSKkfud uke gS % 
 

56. Scientific name of chickpea is : 

(A) fllj ,fjfVue  (A) Cicer arietinum 

(B) fllj QScksbMh  (B)  Cicer faboideae 

(C) fllj dkcqfyue  (C)  Cicer kabulinum 

(D) ft+;k est  (D)  Zea mays 

57. pus dks bl uke ls Hkh tkuk tkrk gS % 
 

57. Chickpea is also called as : 

(A) eksDdk  (A) Mokka 

(B) ljlksa  (B)  Sarson 

(C) caxky puk  (C)  Bengal gram 

(D) gyok  (D)  Halwa 
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58. puk dk ifjokj gS % 
 

58. Family of chickpea is : 

(A) lksysuslh  (A) Solanaceae 

(B) :Vslh  (B)  Rutaceae 

(C) Qscslh  (C)  Fabaceae 

(D) izksVhuslh  (D)  Proteinaceae 

59. pus Nksys fdlesa le`) gSa \ 
 

59. Chickpeas are rich in : 

(A) phuh  (A) Sugar 

(B) izksVhu  (B)  Protein 

(C) Fkk;feu  (C)  Thiamine 

(D) jkbcks¶ysfou  (D)  Riboflavin 

60. ekuo ‘kjhj esa puk de dj ldrk gS % 
 

60. In human body, chickpea can reduce : 

(A) jDr dksysLVsjkWy  (A) Blood cholesterol 

(B) CyM ‘kqxj  (B)  Blood sugar 

(C) jDr izksVhu  (C)  Blood protein 

(D) jDrpki  (D)  Blood pressure 

 
 
 
 
 
 
 
 
 
 
 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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